
STEERING & SUSPENSION PARTS

JAPANESE VEHICLES

KOREAN VEHICLES

AMERICAN AND EUROPEAN VEHICLES

NEW ITEM LIST

VISIT CTR WEB CATALOGUE

www.neoctr.kr

NEO CTR CO., LTD.



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBVW-5R 1J0 407 366J LOWER R AUDI A3 HATCHBACK 8L1 96-03 30PCS

FAW BORA 1J2 01-02

FAW BORA II 02-06

FAW BORA HS 06-08

FAW BORA NEW 08-

FAW GOLF HATCHBACK 01-09

SEAT LEON 1M1 02-06

SEAT TOLEDO II 1M2 99-06

SKODA OCTAVIA 1U2 96-10

SKODA OCTAVIA ESTATE 1U5 98-10

SAW LAVIDA 08-12

VW BORA SEDAN 1J2 98-05

VW BORA ESTATE 1J6 99-05

VW GOLF IV 1J1 97-05

VW GOLF VARIANT IV 1J5 99-06

NEW BETTLE 9C1, 1C1 98-10

NEW BETTLE CONVERTIBLE 1Y7 02-10

CBVW-5L 1J0 407 365J LOWER L AUDI A3 HATCHBACK 8L1 96-03 30PCS

FAW BORA 1J2 01-02

FAW BORA II 02-06

FAW BORA HS 06-08

FAW BORA NEW 08-

FAW GOLF HATCHBACK 01-09

SEAT LEON 1M1 02-06

SEAT TOLEDO II 1M2 99-06

SKODA OCTAVIA 1U2 96-10

SKODA OCTAVIA ESTATE 1U5 98-10

SAW LAVIDA 08-12

VW BORA SEDAN 1J2 98-05

VW BORA ESTATE 1J6 99-05

VW GOLF IV 1J1 97-05

VW GOLF VARIANT IV 1J5 99-06

NEW BETTLE 9C1, 1C1 98-10

NEW BETTLE CONVERTIBLE 1Y7 02-10

NEW ITEMS

VOLKSWAGEN

BALL JOINT



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CET-214R 45046-B9210 OUTER R PASSO KGC1#, KGC3#, NGC30, QNC10 04-10 20PCS

BB QNC2# 06-10 (36/2PCS)

DAIHATSU BOON M300, M310, M301, M312 04-10

M600, M601, M610 10-

DAIHATSU COO M401, M402, M411 06-

SUBARU DEX (OEM) M401, M411 08-

CET-214L 45047-B9150 OUTER L PASSO KGC1#, KGC3#, NGC30, QNC10 04-10 20PCS

BB QNC2# 06-10 (36/2PCS)

DAIHATSU BOON M300, M310, M301, M312 04-10

M600, M601, M610 10-

DAIHATSU COO M401, M402, M411 06-

SUBARU DEX (OEM) M401, M411 08-

CET-215R 45046-B9270 OUTER R PASSO KGC10, KGC15(4WD) 04-10 20PCS

DAIHATSU BOON M300, M310(4WD) 04-10 (36/2PCS)

DAIHATSU SIRION M300 04-10

CET-215L 45047-B9220 OUTER L PASSO KGC10, KGC15(4WD) 04-10 20PCS

DAIHATSU BOON M300, M310(4WD) 04-10 (36/2PCS)

DAIHATSU SIRION M300 04-10

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEHO-62R 53540-SMA-013 OUTER R FIT EV 13-14 25PCS

STREAM RN6, RN7, RN8, RN9 06-14 (34/2PCS)

CEHO-62L 53560-SMA-013 OUTER L FIT EV 13-14 25PCS

STREAM RN6, RN7, RN8, RN9 06-14 (34/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CECR-13 5073582AD R/L DODGE PICK UP (NEW STYLE) 02-08 20PCS

DODGE R1500 MEGA CAB/R2500/R3500 PICK UP 05-09 (36/2PCS)

DODGE RAM R2500 PICK UP 10-15

DODGE RAM R3500 PICK UP 10-15

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEF-45 4L3Z-3A130-CA OUTER FORD F150 (NEW STYLE) 04-08 20PCS

LINCOLN MARK LT 06-08 (36/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEG-23 26057931 OUTER CHEVROLET CAVALIER 95-05 36PCS

PONTIAC SUNFIRE 95-05 (50/2PCS)

CEG-24 26091587 OUTER CHEVROLET SIERRA/SILVERADO (CLASSIC) 97-07 12PCS

(24/2PCS)

CEG-25 19149617 OUTER CADILLAC/CHEVROLET AVALANCHE/ESCALADE EXT 02-06 20PCS

CHEVROLET/GMC SUBURBAN/YUKON XL/XL DENALI 1500/2500 00-06 (36/2PCS)

CHEVROLET/GMC DENALI/ESCALADE/TAHOE/YUKON 00-06

CHEVROLET/GMC SIERRA/SILVERADO (CLASSIC) - 99-07

                                                              - 1500 SERIES STD CAB, EXTENDED CAB

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEKH-60 56820-3B000 CLICK (GETZ) TB 02-11 50PCS

EQUUS LZ 99-08 (70/2PCS)

SANTA FE SM 01-06

TRAJET XG 99-07

HONDA

CHRYSYER

FORD

GENERAL MOTORS

HYUNDAI

TOYOTA

TIE ROD END



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRT-128 45503-29655 R/L HIACE TRUCK LY101, LY111, LY151, LY161, YY101 95-96 20PCS

QUICK DELIVERY BU68, LH81, LH82, LY151, LY152, RZU68 95-01

DYNA 150/TOYOACE G15 LY1##, LY2##, YY1##, YY2## 95-01

CRT-129 45503-B1020 R/L PASSO KGC1#, QNC10 04-10 32PCS

KGC3#, NGC30 10

BB QNC2# 06-10

DAIHATSU BOON M300, M301, M310, M312 04-10

M600, M601, M610 10-

DAIHATSU COO M401, M402, M411 06-

SUBARU(OEM) DEX M401, M411 08-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRN-70 D8521-3TA0A R/L ALTIMA SEDAN 13-15 32PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRHO-70 53010-SX0-003 R/L ODYSSEY 95-99 48PCS

SHUTTLE 95-99

CRHO-73 53010-SMA-013 R/L STREAM RN6, RN7, RN8, RN9 06-14 36PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQN-19R 54500-EB70A LOWER R FRONTIER D40B 08-12 4PCS

D40BB 12-

NAVARA THI MAKE D40T 06-

D40TT 12-

NAVARA MLY MAKE D40L 11-

CQN-19L 54501-EB70A LOWER L FRONTIER D40B 08-12 4PCS

D40BB 12-

NAVARA THI MAKE D40T 06-

D40TT 12-

NAVARA MLY MAKE D40L 11-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQM-26R MR496796 LOWER R MONTERO V75W, V77W 00-06 4PCS

PAJERO V63W, V65W, V68W, V73W, V75W, V77W, 99-06

V78W

PAJERO/MONTERO V64W, V65W, V68W, V73W, V74W, V75W, 00-06

V78W

CQM-26L MR496795 LOWER L MONTERO V75W, V77W 00-06 4PCS

PAJERO V63W, V65W, V68W, V73W, V75W, V77W, 99-06

V78W

PAJERO/MONTERO V64W, V65W, V68W, V73W, V74W, V75W, 00-06

V78W

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKK-71R 54501-A3000 LOWER R RAY TAM 11- 4PCS

RAY EV TAM 11-

CQKK-71L 54500-A3000 LOWER L RAY TAM 11- 4PCS

RAY EV TAM 11-

RACK END

TOYOTA

NISSAN

HONDA

CONTROL ARM

NISSAN

MITSUBISHI

KIA



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLT-100 48830-14040 REAR SUPRA GA70, JZA70, MA70 86-93 25PCS

SOARER GZ20, MZ2# 86-91 (50/2PCS)

CLT-101 48820-26051 FRONT HIACE/REGIUSACE KDH2##, LH2##, TRH2## 05-14 20PCS

(40/2PCS)

CLT-102 48820-74010 FRONT SCION IQ NGJ10 11- 10PCS

SCION IQ EV KPJ10 12 (20/2PCS)

IQ KGJ10, JGJ10, NUJ10 08-14

IQ EV KPJ10 12

CLT-103 48820-17010 FRONT MR2 AW1# 84-89 10PCS

(20/2PCS)

CLT-104 48821-B1020 REAR BB QNC2# 06- 10PCS

PASSO SETTE M502E, M512E 08-12 (20/2PCS)

DAIHATSU COO M401, M402, M411 06-

DAIHATSU BOON M300, M310, M301, M312 04-10

DAIHATSU BOON LUMINAS M502, M512 08-

SUBARU(OEM) DEX M401, M411 08-

CLT-105 48830-12080 REAR AURIS NZE15#, ZRE15# 06-12 25PCS

BLADE AZE15#, GRE156 06-12 (50/2PCS)

COROLLA RUMION NZE151, ZRE15# 07-

MARK X ZIO ANA1#, GGA10 07-13

CLT-106 48820-20021 FRONT CELICA AT180, ST18# 89-93 40PCS

COROLLA AE10#, CE100, EE10# 91-02 (80/2PCS)

SPRINTER AE10#, CE100, EE10# 91-02

LVN/CRE/TRN/MRN AE10# 91-98

CLT-107 48830-26030 REAR REGIUS/TOURING HIACE KCH4#, LXH4#, RCH4# 97-02 40PCS

GRANVIA/GRAND HIACE KCH1#, RCH11, VCH1#, VCH2# 95-05 (80/2PCS)

STABILIZER LINK

TOYOTA



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ

CVKH-190 55118-2S000 RR ARM (2WD) MAXCRUZ 13-15 4 PCS 60 PCS

SANTA FE DM 12-15

TUCSON IX 09-13

TUCSON 13-15

SORENTO 12-14

SPORTAGE R SL 10-13

SPORTAGE 13-15

CVKH-191 55118-2S100 RR ARM (4WD) TUCSON IX 09-13 4 PCS 60 PCS

TUCSON 13-15

SPORTAGE R SL 10-13

SPORTAGE 13-15

CVKH-192 55253-3W100 RR ASSIST ARM (4WD) TUCSON IX 09-13 4 PCS 60 PCS

55253-2S100 TUCSON 13-15

SPORTAGE R SL 10-13

SPORTAGE 13-15

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ

CVT-81 48704-28040 FRT LOWER ARM TOWNACE/LITEACE CR4#, KR4#, SR40 96-04 2 PCS 30 PCS

LITE/TOWNACE NOAH, VCR4#, 5#, KR4#, 52, 96-07

SR40, 50

DELTA WAGON CR40, 41, 50, 51, KR41, 96-98

(DAIHATSU) 42, SR40, 50

CR40, 42, 50, 52, KR42, 99-02

SR40, 50

HYUNDAI

BUSH

TOYOTA



* INFORMATION WAS CHANGED AS FOLLOWS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBHO-51 51220-TR0-A01 LOWER R/L CIVIC 11- 20PCS

ACURA ILX 13-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBKH-32 51760-3M000 LOWER GENESIS 07- 20PCS

EQUUS 09-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBHO-51 51220-TR0-A01 LOWER R/L CIVIC 11- 30PCS

ACURA ILX 13-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBKH-32 51760-3M000 LOWER GENESIS 07- 30PCS

EQUUS 09-

HONDA

HYUNDAI

 CORRECTION NOTE

INFORMATION

BALL JOINT

HONDA

HYUNDAI

BALL JOINT



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-95 48520-2S485 ◈ INNER PICK UP 2WD D22 97- 36PCS

D8520-VK91A MALE RHT FRONTIER D22   4X2 98-00 (50/2PC

S)M18 X 1.5

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEKH-56R 56825-E6090 FEMALE RHT SONATA LF 14- 25PCS

M16 X 1.5 SONATA HYBRID (PHEV) LF 14- (34/2PCS)

CEKH-56L 56820-E6000 FEMALE RHT SONATA LF 14- 25PCS

M16 X 1.5 SONATA HYBRID (PHEV) LF 14- (34/2PCS)

CEKH-57R 56820-3N290 FEMALE RHT EQUUS VI 14.09- 18PCS

M14 X 1.5 (24/2PCS)

CEKH-57L 56820-3N200 FEMALE RHT EQUUS VI 14.09- 18PCS

M14 X 1.5 (24/2PCS)

 

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-95 48520-2S485 ◈ OUTER PICK UP 2WD D22 97- 36PCS

D8520-VK91A MALE RHT FRONTIER D22   4X2 98-00 (50/2PC

S)M18 X 1.5

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEKH-56R 56825-E6090 FEMALE RHT SONATA LF 14- 12PCS

M16 X 1.5 SONATA HYBRID (PHEV) LF 14- (24/2PCS)

CEKH-56L 56820-E6000 FEMALE RHT SONATA LF 14- 12PCS

M16 X 1.5 SONATA HYBRID (PHEV) LF 14- (24/2PCS)

CEKH-57R 56820-3N290 FEMALE RHT EQUUS VI 14.09- 20PCS

M14 X 1.5 (24/2PCS)

CEKH-57L 56820-3N200 FEMALE RHT EQUUS VI 14.09- 20PCS

M14 X 1.5 (24/2PCS)

 

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRHO-56 53010-TK6-A02 R/L FIT GE6 09-13 40PCS

M16 X 1.0

M14 X 1.5

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRHO-56 53010-TK6-A02 R/L FIT GE6 09-13 32PCS

M16 X 1.0

M14 X 1.5

RACK END

TIE ROD END

HYUNDAI

TIE ROD END

HYUNDAI

NISSAN

NISSAN

RACK END

HONDA

HONDA



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLN-64 54618-VB000 FRONT SAFARI 97-07 40PCS

M12 X 1.25 (80/2PC

S)M10 X 1.25

CLN-68R 54618-1CA3B REAR R INFINITI FX35/FX37/FX50 09-13 25PCS

M12 X 1.25 INFINITI QX70 14-15 (50/2PCS)

CLN-68L 54668-1CA3B REAR L INFINITI FX35/FX37/FX50 09-13 25PCS

M12 X 1.25 INFINITI QX70 14-15 (50/2PCS)

CLN-73R 54618-WL01A ◈ REAR R INFINITI FX35/FX45 03-08 25PCS

54618-WL010 (50/2PCS)

CLN-73L 54668-WL01A ◈ REAR L INFINITI FX35/FX45 03-08 25PCS

54668-WL010 (50/2PCS)

CLN-76 56261-1PA0A FRONT R/L NV F80 11- 20PCS

NV3500 WF80 12- (40/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLHO-85R 52320-STX-A02 FRONT R PILOT 09-13 25PCS

M10 X 1.25 AUCRA MDX 07-13 (50/2PCS)

ACURA ZDX 10-13

CLHO-85L 52325-STX-A02 FRONT L PILOT 09-13 25PCS

M10 X 1.25 AUCRA MDX 07-13 (50/2PCS)

ACURA ZDX 10-13

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKH-59R 54840-B1000 FRONT R GENESIS 2WD 14- 25PCS

 M12 X 1.25 (50/2PCS)

CLKH-59L 54830-B1000 FRONT L GENESIS 2WD 14- 25PCS

 M12 X 1.25 (50/2PCS)

CLKH-66R 55540-4H400 REAR R GRAND STAREX (4WD) 15- 25PCS

(50/2PCS)

CLKH-66L 55530-4H400 REAR L GRAND STAREX (4WD) 15- 25PCS

(50/2PCS)

CLKH-14 55530-38000 ◈ REAR SONATA EF 98-00 16PCS

 55530-38010 M10 X 1.25 GRANDEUR XG 98-04 (32/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKK-17 55530-38000 ◈ REAR OPTIMA(MAGENTIS) 00-05 16PCS

(CLKH-14) 55530-38010 M10 X 1.25 (32/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKD-21 96440020 FRONT MAGNUS 03- 20PCS

M10 X 1.25 (40/2PCS)

STABILIZER LINK

HONDA

HYUNDAI

KIA

NISSAN

GM KOREA



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLN-64 54618-VB000 FRONT SAFARI 97-07 20PCS

M12 X 1.25 (40/2PC

S)M10 X 1.25

CLN-68R 54618-1CA3B REAR R INFINITI FX35/FX37/FX50 09-13 25PCS

M12 X 1.25 INFINITI QX70 14-15 (40/2PCS)

CLN-68L 54668-1CA3B REAR L INFINITI FX35/FX37/FX50 09-13 25PCS

M12 X 1.25 INFINITI QX70 14-15 (40/2PCS)

CLN-73R 54618-WL01A ◈ REAR R INFINITI FX35/FX45 03-08 25PCS

54618-WL010 (40/2PCS)

CLN-73L 54668-WL01A ◈ REAR L INFINITI FX35/FX45 03-08 25PCS

54668-WL010 (40/2PCS)

CLN-76 56261-1PA0A REAR R/L NV F80 11- 20PCS

NV3500 WF80 12- (40/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLHO-85R 52320-STX-A02 FRONT R PILOT 09-13 20PCS

M10 X 1.25 AUCRA MDX 07-13 (40/2PCS)

ACURA ZDX 10-13

CLHO-85L 52325-STX-A02 FRONT L PILOT 09-13 20PCS

M10 X 1.25 AUCRA MDX 07-13 (40/2PCS)

ACURA ZDX 10-13

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKH-14 55530-38000 ◈ REAR SONATA EF 98-00 20PCS

 55530-38010 M10 X 1.25 GRANDEUR XG 98-04 (40/2PCS)

CLKH-59R 54840-B1000 FRONT R GENESIS 2WD 14- 25PCS

 M12 X 1.25 (40/2PCS)

CLKH-59L 54830-B1000 FRONT L GENESIS 2WD 14- 25PCS

 M12 X 1.25 (40/2PCS)

CLKH-66R 55540-4H400 REAR R GRAND STAREX (4WD) 15- 25PCS

(40/2PCS)

CLKH-66L 55530-4H400 REAR L GRAND STAREX (4WD) 15- 25PCS

(40/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKK-17 55530-38000 ◈ REAR OPTIMA(MAGENTIS) 00-05 20PCS

(CLKH-14) 55530-38010 M10 X 1.25 (40/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKD-21 96440020 FRONT MAGNUS 03- 16PCS

M10 X 1.25 (20/2PCS)

GM KOREA

HONDA

HYUNDAI

KIA

NISSAN

STABILIZER LINK



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ

CVKH-184 55513-4H100 RR STABILIZER GRAND STAREX 06-

GRAND STAREX 15-

CVKH-186 55513-2B200 RR STABILIZER SANTAFE CM 09-12

SORENTO XM 09-12

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ

CVT-4 48654-28060 LOWER ARM (PIN) CAMRY 2 PCS 24 PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ

CVKH-184 55513-4H100 RR STABILIZER GRAND STAREX 06- 2 PCS 60 PCS

GRAND STAREX 15-

CVKH-186 55513-2B200 RR STABILIZER SANTAFE CM 09-12 4 PCS 64 PCS

SORENTO XM 09-12

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ

CVT-4 48654-28060 LOWER ARM (PIN) CAMRY 4 PCS 48 PCS

TOYOTA

BUSH

HYUNDAI

TOYOTA

BUSH

HYUNDAI


